1/17/2020 Refractory

Disclaimer: Displayed questions are not as per the sequence in which candidate has actually attempted the questions
in question paper.

Post Name: Junior Trainee - Refractory

SECTION 1 - GENERAL KNOWLEDGE

Question No.1 1.00

Where was the first Non-aligned movement summit held?
208 DT g0 DERY ) ¢ 206A0B?

(A) O Belgrade
BSEE

(B) O London
Q0CR

(C) O New York
Qoegos8)

(D) O Bandung
2)0c0H

Question No.2 1.00

Who is the chairman of NITI Aayog?
NITI esaBf YR ddc?

(A) O The Chief Minister
ESRAE MO LY

(B) O The Governor
65563’6

(C) O The Finance Minister
2385 oy

(D) O The Prime Minister
DEI0Y

Question No.3 1.00

In June 2019, the 20th Meeting of Financial Stability and Development Council (FSDC) was held
under the Chairmanship of
2D 2019 & 598 20SC0 0050 DB 206D (FSDC) cing), 20 & wardso

eoc,szgééé 20008.

(A) O Ajay Tyagi
€920% (o)

(8) O Nirmala Sitharaman
A" DT T D

(C) O Amitabh Kant
T S°od

(D) O Shaktikanta Das
33sP08 T°0

Question No.4 1.00
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Recently, who took oath as 31st Chief Minister of Karnataka by Governor Vajubhai Vala?
ABI0, T°R (56) & Trererad arer & $THE T 31 O J008B0dMT VAT DS G0 BRXG JDC?

(A) O Yediyurappa
oBac‘wgd::b

(B) O Bhawana Kanth
2POT° SP0B

(C) O Kumara Raja
SA°Y Trer

(D) O Rajasekhar
or230

Question No.5 1.00

Which of the following banks launched the world's first block chain based bond called 'Bond-i'?
800 TBS” D ergoLd HDOB0S"D Bty BB ‘a0l - 7 D BDeJE gPE BOWD BLPOS Ero&R
FE0Dood?
(A) O World Bank

LD ergoHd

(B) O International Monetary Fund
oI AaD Gy A6

(C) O Asian Development Bank
D00 EIVDAE ejo8

(D) O New Development Bank
Qg BOVDE erfos

Question No.6 1.00

The Mahatma Gandhi National Rural Employment Guarantee Scheme aims to provide minimum
in a financial year

20FER), ol 2B TP GG P VRSB .8 0 DodSBoeS” R0 &

29000V g orr 800 &od

(A) O 100 days of wage employment
100 Sre S &8

(B) O 60 days of wage employment
60 Bere D3 &0

(C) O 300 days of wage employment
300 Sere) HSD &0

(D) O 200 days of wage employment
200 Bere) DD &0

Question No.7 1.00

The term "Leg Before Wicket" is associated with
"SA DI D" 9D Hdo £ 020H0VIE

(A) O Volleyball
o®ereS

(B) O Tennis
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1/17/2020 Refractory
@b&fo

(C) O Chess
WeGorio

(D) O Cricket
aas

Question No.8

What was the name of the women's regiment of Indian National Army?
26D 2O PIE SWoeS® B0IPwe TR0 DA DDE?

(A) O Rani Chennamma Regiment
o3 D) ), 8RB0

(B) O Rani Velu Nachiyar Regiment
T°Ed e SIS B2od

(C) O Rani of Jhansi Regiment
o°ed Gy SR8

(D) O Rani Raziya Begum Regiment
Tred Be203° &3io B0oed

1.00

Question No.9

In financial terms, what is the expansion of "GST"?
©88DERD DErVS” "GST" L DYdes 6o DE?

(A) O General and Services Tax
26 ok “aés?ofo &Sy

(B) O Goods and Sales Tax

(C) O Goods and Security Tax
ﬁJ"&D ol 703)"_5663 éJ"éD

(D) O Goods and Services Tax

1.00

Question No.10

The functional segments of DNA is
GADD &°D Fosre) & erridoen

(A) O Egg
€90¢$ed0

(B) O Ribosomes
BeS°E doen

(C) O Genes
amzsabw

(D) O Mitochondria
e srod s

1.00

Question No.11

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Refractory.html

1.00

3/41



1/17/2020 Refractory
Which one of the following National Parks is located in Assam?
800 &AL FEY VS’ IO WIS’ Gots?

(A) O Silent Valley National Park
0505 .:Pzgs) Ak FE)

(B) O Jim Corbett National Park
20 ST erdak ),

(C) O Namdapha National Park
Do Ao J ),

(D) O Manas National Park
JdD rdaH J )

Question No.12 1.00

What is the expansion of the acronym 'IMO’ (an International organisation)?
'IMO’" (28 ©90dgrdam ©0R) @ £ 6rards DS IS?

(A) O International Maritime Organization
Qoe8) DIS H8G0 EJBAD

(B) O Indian Metro Organizational
Q04000 0¢5° BEIBNIS

(C) O International Medical Organisation
faoeoérl:mé EES esgéé:qé

(D) O Indian Moffosal Organisation
QOGO TS SEIEND

Question No.13 1.00

Which of the following International lines lies between India and Pakistan?
$08 D oSTrAOD B &GS SOOI FEPP OGS €s0b?

(A) O Maginot Line
SH3¢5 B

(B) O Hindenburg Line
Troided B

(C) O Durand Line
crgorot B9

(D) O Radcliffe Line
o"sé,éi) o

Question No.14 1.00

Who is the new Controller General of Accounts (CGA) in the Department of Expenditure?
S50 T ABIS BB DoDLED Soif’b BHGS 8 WS oty (CGA) d56?

(A) O Rajiv menon
TED DD

(B) O JP Nadda
> oy

(C) O Giriraj Prasad Gupta
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ABTE DI oy

(D) O Arjun Reddy
©g 86

Refractory

Question No.15

2263F ety DS BERDLD T°Zo IB?

(A) O West Bengal
KJ‘?‘DQJ &orred

(B) O Assam
?.‘)5"’30

(C) O Rajasthan
maeg%

(D) O Madhya Pradesh
25033

Which State celebrates the Khajuraho Dance festival?

1.00

Question No.16

Which is the wettest place in the world?
800 TS PSS ot B o LB IB?

(A) O Mawsynram
SIPDDT°0

B) O Aizawl
339.5“56

(C) O Cape Town
ITAS]

(D) O Cairo
s®

1.00

Question No.17

(A) O Mumbai
20008

(B) O Pune
ES) i
(C) O Nashik

P08

(D) O Nagpur
b et ey o)

Which one of the following cities was known as the Cottonopolis of India?
800 D DTy SRSTDD ed QAT DLVFE?

1.00

Question No.18
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(A) O Ethylene and Sodium Hydroxide
2608 20o0sw Vdabo TEsE

(B) O Carbon dioxide and Methane
526D GoIrgyE S8k B

(C) O Propylene and Sulfuric acid
THOS 200030 ey 08 e

(D) O Hydrogen chloride and Calcium carbonate
TE2S §9& 200050 5°Qado YIS

Question No.19 1.00

Which of the following is not a neighbouring country of India?
800 TS erEBBT IS VOPG B0 G I&?

(A) O Belgium
Bgoﬁoo

B) O China
I

(C) O Nepal
JJrS

(D) O Pakistan
RN

Question No.20 1.00

Which one of the following is an example of Exogenic forces?
$00 TS L2 (IEVBIE) weroH & 267?

(A) O Landslide
Eoct cs0aen Dbﬁbd&)o(e}%o&?p}&)

(B) O Volcano
esﬁ‘)'z)dséo

(C) O Sea-waves
DAVG-HGormren

(D) O Earthquake
ZorE000

SECTION 2 - WORKING ENGLISH

Question No.1 1.00

Choose the word which expresses nearly the opposite meaning of the given word " PROMPT "
Choose the word which expresses nearly the opposite meaning of the given word " PROMPT "

(A) O Sluggish
Sluggish
(B) O Provoke
Provoke

(C) O Convince
Convince

(D) O Assist
Assist
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Question No.2 1.00

Choose the word which best expresses the similar meaning of the given word " PULCHRITUDE "
Choose the word which best expresses the similar meaning of the given word " PULCHRITUDE "
(A) O Ugliness

Ugliness
(B) O Offensive

Offensive

(C) O Roughness
Roughness

(D) O Elegance
Elegance

Question No.3 1.00

Choose the word which expresses nearly the opposite meaning of the given word " DISGUISE "
Choose the word which expresses nearly the opposite meaning of the given word " DISGUISE "
(A) O Guise

Guise
(B) O Pretense

Pretense
(C) O Blind

Blind
(D) O Honesty

Honesty

Question No.4 1.00

Fill in the blanks with suitable Preposition from the given alternatives.

Nithish purchased a gift his wife
Fill in the blanks with suitable Preposition from the given alternatives.

Nithish purchased a gift his wife
(A) O for
for
(B) O about
about
(C) O during
during
(D) O along
along

Question No.5 1.00

Find the word which is correctly spelt from the given options.
Find the word which is correctly spelt from the given options.
(A) O Absurrd

Absurrd
(B) O Temprary

Temprary
(C) O Guidance

Guidance
(D) O Financiel

Financiel

Question No.6 1.00

Fill in the blanks with suitable Article from the given alternatives.
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Our family doctor suffers from

Our family doctor suffers from

(A) O a
a

B) O the
the
(C) O an
an

(D) O No article
No article

Refractory

Arthritis

Fill in the blanks with suitable Article from the given alternatives.

Arthritis

Question No.7

(A) O Breething
Breething

(B) O Perfomance
Perfomance

(C) O Invisibility
Invisibility

(D) O Buisness
Buisness

Find the word which is correctly spelt from the given options.
Find the word which is correctly spelt from the given options.

1.00

Question No.8

(A) O Financiel
Financiel

(B) O Goverment
Goverment

(C) O Linguistic
Linguistic

(D) O Developmant
Developmant

Find the word which is correctly spelt from the given options.
Find the word which is correctly spelt from the given options.

1.00

Question No.9

Australia consolidated their lead

Australia consolidated their lead
(A) O against
against
(B) O in
in
(C) O on
on
(D) O at

at

Fill in the blanks with suitable Preposition from the given alternatives.

the ongoing Ashes cricket series

Fill in the blanks with suitable Preposition from the given alternatives.

the ongoing Ashes cricket series

1.00

Question No.10
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Choose the word which expresses nearly the opposite meaning of the given word " TRANQUIL "
Choose the word which expresses nearly the opposite meaning of the given word " TRANQUIL "
(A) O Excitable

Excitable

(B) O Peaceful
Peaceful
(C) O Agreeable
Agreeable

(D) O Patient
Patient

Question No.11

Choose the word which best expresses the similar meaning of the given word " CURTAIL "
Choose the word which best expresses the similar meaning of the given word " CURTAIL "
(A) O Truncate

Truncate
(B) O Enlarge

Enlarge
(C) O Develop

Develop

(D) O Zealous
Zealous

1.00

Question No.12

Fill in the blanks with suitable Preposition from the given alternatives.

It has been raining Morning
Fill in the blanks with suitable Preposition from the given alternatives.

It has been raining Morning
(A) O across
across

(B) O over
over

©) O by
by

(D) O since
since

1.00

Question No.13

Choose the word which best expresses the similar meaning of the given word " DESOLATE "
Choose the word which best expresses the similar meaning of the given word " DESOLATE "
(A) O Abandoned

Abandoned
(B) O Pleasant

Pleasant
(C) O Restored

Restored

(D) O Bland
Bland

1.00

Question No.14

Fill in the blanks with suitable Article from the given alternatives.

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Refractory.html

1.00

9/41



1/17/2020 Refractory

Rheumatoid arthritis is autoimmune disease in which the body's immune system
mistakenly attacks its own tissues

Fill in the blanks with suitable Article from the given alternatives.

Rheumatoid arthritis is autoimmune disease in which the body's immune system
mistakenly attacks its own tissues

(A) O the
the

B) O a
a

(C) O an
an

(D) O No article
No article

Question No.15 1.00

Choose the word which best expresses the similar meaning of the given word " WRANGLE "
Choose the word which best expresses the similar meaning of the given word " WRANGLE "
(A) O Agreement

Agreement
(B) O Upgrade

Upgrade
(C) O Argument

Argument

(D) O Harmony
Harmony

Question No.16 1.00

Fill in the blanks with suitable Article from the given alternatives.

| am oldest in my family
Fill in the blanks with suitable Article from the given alternatives.

l am oldest in my family
(A) O the
the
B)O a
a
(C) O an
an

(D) O No article
No article

Question No.17 1.00

Fill in the blanks with suitable Article from the given alternatives.

She read book yesterday
Fill in the blanks with suitable Article from the given alternatives.

She read book yesterday
(A) O No article
No article
B)O a
a
(C) O an

an
(D) O the
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the

Question No.18

Find the word which is correctly spelt from the given options.
Find the word which is correctly spelt from the given options.
(A) O Indivdual

Indivdual

(B) O Harangue
Harangue

(C) O Necesary
Necesary

(D) O Sentimant
Sentimant

1.00

Question No.19

Choose the word which expresses nearly the opposite meaning of the given word " TAINTED "
Choose the word which expresses nearly the opposite meaning of the given word " TAINTED "
(A) O Spoiled

Spoiled
(B) O Nice

Nice
(C) O Decayed

Decayed
(D) O Impure

Impure

1.00

Question No.20

Choose the word which best expresses the similar meaning of the given word " STRIDENT "
Choose the word which best expresses the similar meaning of the given word " STRIDENT "
(A) O Moderate

Moderate

(B) O Subdued
Subdued

(C) O Harsh
Harsh
(D) O Silent
Silent

1.00

SECTION 3 - GENERAL APTITUDE

Question No.1

A man buys a CCTV Camera for Rs.1660 and sells it at a loss of 15%. Find the selling price of the
CCTV Camera(in Rs).

28 358 2.8 CCTV 82007 Rs. 1660 & £ oA 15% 3308 dgonoercw. &8 CCTV 2o cdws)
30 8L BB ER0F Do (Rs.0°).
A) O 1511

1511

B) O 1411
1411

() O 1211
1211

(D) O 1311
1311

1.00

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Refractory.html

11/41



1/17/2020 Refractory

Question No.2 1.00

A is twice efficient than B, who can finish the work in 74 days. How many days are required by A
alone to complete the entire work(in days)?

28 0D 74 BereS® 3370 Sosdrie B S0é3 A Bocd Béw e0hs 000 SO, 20go DD A 28,8

3BT A Feren w1CHDB0(Ferd’)?
(A) O 38
38
B) O 36
36
c)O 37
37
(D) O 39
39

Question No.3 1.00

45 typists can type 45 lines in 45 minutes. How many typists are needed to type 90 lines in 90
minutes?

45 2000 SR 45 GH1 45 DTS’ GO Botried. 90 PP 90 Do’ GO Sakoerd
QoS00 BN WBVELOYTW?
(A) O 47
47
(B) O 45
45
) O 41
41
D) O 43
43

Question No.4 1.00

A shopkeeper earns a profit of 20% by selling an article at Rs.546. Find the cost price of the
article(in Rs).

28 DY Rs. 546 D ey, w8 cosees oo 20% wrgo FoCOTPELD. €9 DD £y &6 do&

E20F%0é (Rs.0e°)?
(A) O 455
455
(B) O 466
466
(C) O 477
477
(D) O 444
444

Question No.5 1.00

?
l)

79+16x12/(576+3)
79+16x12/(576+3)
(A) O 74

74
B) O 76

76
(c)O 80

80
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D) O 78
78

Question No.6 1.00

A Train travels at a speed of 54 kmph and crosses a signal in 59 seconds. Find the length of the
train(in metres).
54 kmph S0 He0R0) 28 Tew 2.8 D) Sa 59 2EHS” Trend0s. & Few TP sFdod

(oeages®).
(A) O 885
885
B) O 887
887
() O 888
888
(D) O 886
886

Question No.7 1.00

Pointing to a man, a lady said, "He is my mother-in-law's only son's son's father's sister's father."
How is the lady related to the man?
28 QDAL WD, s 2 0B T° OSTTO DBE HAPHD HATEHE o V°6S Bod” e IDyod. &3
D, €8 DEWES D0DHB0O?
(A) O Wife

el

(B) O Daughter
SOl Ved)

(C) O Daughter-in-law
Seten

(D) O Niece
DI cen / Sme&n@ £&0°8

Question No.8 1.00

In a certain code language, if CHAIN is coded as GLEMR, then how is LEGAL coded in that
language?
05eSE §& 220e5°, CHAIN 9356 GLEMR ™ £& Ba0e0d 8, 098 eaeS LEGAL 936 der §&

B030IEIB00H?
(A) O IPKPE

IPKPE

(B) O QFLJQ
QFLJQ
(C) O PIKEP
PIKEP

(D) O OVTZO
OVTZO

Question No.9 1.00

In a certain code language, if APPLE is coded as SDSHO, then how is DOUBT coded in that
language?
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05,8 §& 220eS°, APPLE 9356 SDSHO ™ €& B3 &, 098 e’ DOUBT @956 der §&

BoDeIcOB00A?

(A) O GRXEW
GRXEW

(B) O WLFYG
WLFYG

(C) O XFYSH
XFYSH

(D) O RGXWE
RGXWE

Question No.10 1.00

Replace the question mark with an option that follows the same logic applied in the first
pair

Butterfly : Caterpillar :: Pig : ??

8B 288" ol T8 SPoTI) BHDBS a&béoé‘ 27) g8 D) Qrdosod

Butterfly: Caterpillar :: Pig : ??
(A) O Joey
Joey
(B) O Puppy
Puppy
(C) O Kitten
Kitten

(D) O Shoat
Shoat

Question No.11 1.00
28! February 2023 falls on which day of the week?
28 2398, 2023 o°60eS° O Berd H00d?

(A) O Sunday
[ZTaYeilole

(B) O Wednesday
IAbaTe lele)

(C) O Tuesday
otiFaeGo

(D) O Monday
D doT°G0

Question No.12 1.00

The average of 17 consecutive numbers is 28. Find the sum of 17 numbers.
17 S8R Do Wriew 28 T @dGR. &8 17 Doadjw dZE) S Ddod..

(A) O 506
506
(B) O 496
496
() O 476
476
(D) O 486
486
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Question No.13

Replace the question mark with an option that follows the same logic applied in the first
pair

Frank : Direct :: Constant : ??

2088 BSS° 5o FO)ToTI) VXDB0S ma‘bsos o) g8 gvav:al Qr8osod

Frank : Direct :: Constant : ??
(A) O Stable
Stable
(B) O Fickle
Fickle
(C) O Variable
Variable
(D) O Changing
Changing

1.00

Question No.14

Choose the alternative which is an odd word/number/letter pair out of the given alternatives.
QDN aa:i)asw Qo0& 0D DESB/Dog/eLTre 2820 S &Y zx‘.’.)!)s"b; o€ od.

(A) O UL
UL
(B) O KB
KB
() O PG
PG
(D)O VT
VT

1.00

Question No.15

Find the value of X, if 25% of X + 40% of 155 = 124
X &5° 25% + 155 ¢5° 40% = 124 90083 X Denddd 80800,

(A) O 248
248
(B) O 252
252
(C)O 254
254
(D) O 256
256

1.00

Question No.16

If 39% of A = 59% of 39, what is the value of A?
A &° 39% = 39 ¢5° 59% e9003 A Jend doch?

(A) O 61
61
B) O 57
57
) O 63
63
(D) O 59
59

1.00

Question No.17
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Piku ran 6km towards East and took a left turn to walk 5km in that direction. She then walked 8km
towards East direction and ran 5km after taking a right turn. Finally, she ran 8km towards East
direction. How far is she from the starting point?

DL BrCdy B3S” BkM DANG DD A0H SkM HED0B. 2 e Brcdy B3S” 8km HAD

DEDDL BN 08 5kM HONGosd. DG €520 Sur6oy PRV BkM HONGosd. €520 A Frdoss Fdo
2008 Jodd BrGoS’ &od?
(A) O 21km

21km

() O 19km
19km

(C) O 22km
22km

(D) O 17km
17km

Question No.18 1.00

If in the word UNIVERSITY, all the consonants are replaced by the previous letter in the alphabet
and all the vowels are replaced by the next letter then all the letters are arranged alphabetically,
which will be the sixth letter from the right end?

UNIVERSITY €53 ¢50¢5°, 1rg0e0) 8 09 600r0e5” T 810065050 0560&' &5 &00050 9cined) o8
VLSO T ST(S 60) WECSIT B e By BT SN PGS VLTV
VEBD0 Ei08" VG OES” LA VDO ol WD VLG ID?

(A) O

B) O
€O
(D) O

PO ZZ XD OHLO!

Question No.19 1.00

The average of 4 numbers is 49 and the 15t number is 1/3™ of the sum of the remaining numbers.
What will be the first number?
4 Roag0 Dt 49. 90’ 155 Voay WADD Dogyw A0S 1/35 Hodkd DeH DA €od. &3 BB

Qo DB?
A) O 49
49
®) O 47
47
C)O 51
51
D)O 53
53

Question No.20 1.00

If in the number 8946512736, first all the even digits are arranged in descending order and then all
the odd digits are arranged in descending order, which digit will be in the sixth position from the
right end?
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8946512736 3 {oogpzseS6 , DO PO R)o&,)zgofb‘l&b 0958 5306 0065 0N &8 SO B DoV

BT Ei006S” BB\ DD SN VoS G DIG &0l 36 g»aoes‘ €08 908 AA?

) O
(D) O

NN ©O© NN Db

Question No.21 1.00

Find the value of a2 -b?, if (a+b) = 77 and (a-b) = 13.
(a+b) = 77 H060sw0 (a-b) = 13 e9ond a2 -b? Ve ST Dod.
(A) O 1003

1003

(B) O 1002
1002

(€) O 1004
1004

(D) O 1001
1001

Question No.22 1.00

Find the next number in the series.
14, 16, 35, 109, ?
3385 307D RoggR0 SRV,
14, 16, 35, 109, ?
(A) O 435
435
(B) O 441
441
(C) O 457
457

(D) O 463
463

Question No.23 1.00

Find the value of (a%-b%), given that (a2+b?) = 85, (a-b) = 1 and (a+b) = 13.
(a2+b?) = 85, (a-b) = 1 H08a3» (a+b) = 13 eand (a%-b?) DeHdd SHOF DA,
(A) O 1101

1101

(B) O 1105
1105

€)O 1103
1103

(D) O 1009
1009

Question No.24 1.00

Which of the following years is a Leap Year?
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800 TOS" B2 DodByGo DB?
(A) O 530
530
B) O 529
529
(€) O 531
531
(D) O 532
532

Question No.25 1.00

If 40% of 'X" is more than 20% of 845 by 309, find the value of 'X'.
845 &5° 20% Zoé5 ‘X'S* 40% ABoog); Dewd 309 e I &0, X' Dendd SRFDC.

(A) O 1195
1195

B) O 1295
1295

() O 1495
1495

(D) O 1395
1395

Question No.26 1.00

Find the value of (a-b), given that a2+b? = 1010 and ab = 377.
a2+b? = 1010 208030 ab = 377 @and (a-b) DevHdo ST Dol
(A) O 14

14
B) O 16

16
() O 20

20

D) O 18
18

Question No.27 1.00

A fruit seller had some oranges. He sells 73% of oranges and still had 270 oranges. How many
oranges he initially had?
28 D0g HPDLD DG EDY TO0RDOE) &) 0. 90T WA 73% DFYD 9N BTG EXTe BVDE

Qos® 270 rBo2s0¢d ADET™) 0. BB AW &) T*802D0E D) ?
(A) O 1000

1000
(8) O 600
600
() O 1200
1200
(D) O 800
800

Question No.28 1.00

Find the average of 8 numbers 46, 40, 35, 44, 21, 52, 74 and 82.
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46, 40, 35, 44, 21, 52, 74 550030 82 3 8 Qoo DD S DoC..

(A) O 50.25
50.25

(B) O 47.25
47.25

(C) O 48.25
48.25

(D) O 49.25
49.25

Question No.29 1.00

Find the next number in the series.
453,492, 466, 505, 479, ?
33" STP(B Doy EX0F Dol

453, 492, 466, 505, 479, ?
(A) O 489
489
B) O 518
518
() O 506
506
(D) O 498
498

Question No.30 1.00

Choose the alternative which is an odd word/number/letter pair out of the given alternatives.
fz):‘i)‘)é w:i')!)svo H008 T8 :{Jcsaw/‘&)oaazg/eséow 2530 90 eé‘l aoé’.)bs"bgv DoEd.

(A) O Slow
Slow
(B) O Brisk
Brisk
(C) O Quick
Quick
(D) O Rapid
Rapid

Question No.31 1.00

A boy is standing in a lawn facing North-West direction. If the boy turns 65 degrees in clockwise
direction and 155 degrees in anti-clockwise direction, which direction will he face now?
208 ePCD :JD!)seSG SO0 BFL DHNPOM DD ST K. 9 eI Wiy &%° 65 &hen H6A

esbrosjsa%ess 155 Gfilen BBNB, 9B AN D HIL VDIVPRO Eotrc?

(A) O South-East
esﬁ‘lotbo

(B) O South-West
3

(C) O North-West
mma5o

(D) O North-East
ée%"’éso
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Question No.32

Karthik travels first 60 km of the journey at 60 kmph and the remaining 60 km at 120 kmph. Find
the average speed of the entire journey(in kmph).

9 030°£0e5°D Docsed 60 km Lo 5085 60 kmph Srio& a5, WADD 60 km o 120 kmph SroS
VORI, Do HAITEI0 ALY, Wi Sy (kmph &°) 820
(A) O 78
78
(8) O 80
80
c)O 76
76
(D)O 74
74

1.00

Question No.33

A is the husband of B who is the daughter of C. D is the daughter of E whose wife is C. How is D
related to A's daughter?
C £020°8 @od B € A 588, C & ey so E € D 03578, @39y A £35°86 D dvperdd?

(A) O Aunt
@08l (D) [>G20) [e088)

(B) O Niece
o8 cen | St H°g

(C) O Granddaughter
SDST D

(D) O Sister
D°¢6

1.00

Question No.34

If January 1, 2052 is a Sunday, January 1, 2056 falls on which day of the week?
2350 1, 2052 363760 O 2550 1, 2056 r60eS” J Ferd H00d?

(A) O Sunday
(Zlaterlelel

(B) O Friday
Bogodo

(C) O Saturday
3QT°G0

(D) O Monday
QPLoarso

1.00

Question No.35

Find the next number in the series.
26, 27.5, 30, 33.5, 38, ?
33" B0°(B Doy 0Tl
26, 27.5, 30, 33.5, 38, ?
(A) O 44
44
(B) O 425

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Refractory.html
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42.5

(C)O 435
43.5

(D) O 43
43

SECTION 4 - DOMAIN - REFRACTORY ENGINEERING

Question No.1 1.00

is not a hydrosetting powder
TEDGH Fb IO

(A) O High soda cement
> Do Do

(B) O Calcium aluminate cement
s°dado gD D200t

(C) O Portland cement
@geﬁo&, D005

(D) O Hydraulic cement
G0 005

Question No.2 1.00

The glass content of the porcelain body is in the range of
69D B’ e Tedo 0006° Gotwod

(A) O 90-100%
90-100%
(B) O 70-80%
70-80%
() O 80-90%
80-90%
(D) O 60-70%
60-70%

Question No.3 1.00

Control of heat in burners of gas fired furnaces is
R 26 9T Do 6 ¢S ey Voo B 2EMHB00O

(A) O electricity
Desogd
(B) O air
md

) O oil
AP

(D) O coal
5

Question No.4 1.00

Density of silica brick is
250 QNS Jrogieh
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(A) O 4.31to04.33 g/cc
4.31 Sooc. 4.33 g/cc

(B) O 2.31to02.33 glcc
2.31 &voc 2.33 glcc

(C) O 3.31t03.33 g/cc
3.31 2o 3.33 g/cc

(D) O 1.31to 1.33 g/cc
1.31 &ooé 1.33 g/cc

Question No.5

The starting criteria for inspection of raw material is

20é DETR SJDS FGo2 R0

(A) O Random sampling
o°jocio ook

(B) O visual inspection
csy35 BD

(C) O Lot size
o5 DE (DY DBBIE0)

(D) O Collective sampling
569%5 Jrooh

1.00

Question No.6

Anorthite is
@Sges DO

2Ca0.Al,03.2Si0,

(B) O 2Ca0.2Al1,04.2Si05
2CGO2A|20328|02

(€) O Ca0.Al,03.2Si0,
Ca0.Al,03.2Si0,
C302A|20328I02

1.00

Question No.7

Ring joints are preferred for linings
B0of 200t Oofiy 6D Ferdyd V@O0

(A) O cylindrical
QPISED

(B) O triangle
TASE SR TO))

(C) O Circular
JYTSED

(D) O Rectangular
BESB62D

1.00

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Refractory.html
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Question No.8

Magnesite Bricks are fired for
g ) DE RSO

(A) O 1-2 days
1-2 Seren

(B) O 3-5days
3-5 Saren

(C) O 7-8 days
7-8 Seren

(D) O 5-6 days
5-6 Saren

Refractory

schedule

P00 P SPRVPED

1.00

Question No.9

(A) O 1015 pas.Sec
101% Pas.Sec

(B) O 1012 pas.Sec
1012 pas.Sec

(€) O 1013 pas.Sec
1013 Pas.Sec

(D) O 104 pas.Sec
1014 Pas.Sec

Glass has viscosity at its annealing point.
ey G3rg); Do a0 S TAS Jod ) (e €otos

1.00

Question No.10

Silica brick must contain
DOz Qs asri')‘)e:som

(A) O 85% SiO
85% SiO,
B) O 88% SiO,
88% SiO,
(€) O 90% SiO
90% SiO,
(D) O 93% Si0,
93% SiO,

£0Aod

1.00

Question No.11

RS’ PIoh ABotSre
(A) O CaSO,
CaSO,
(B) O MgSO,
MgSO4
(C) O Na2304
Na2804

is used as a fining agent in glass
R &DACAF S

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Refractory.html
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(D) O K,S0,
K2S0,

Question No.12 1.00
The bonding material used in abrasive is
oBR5(2088 DEgo) &° &OBTAo erodoh DBORS

(A) O cement
D00t

(B) O saw dust
D (6003 Tew)

(C) O coke
&5

(D) O shellac
2grs

Question No.13 1.00

Standard brick size is
T3S QNS DHDOSICETRD

(A) O 9*4 %%*3 inches
9* 4 /2 *3 evorHrvcen

(B) O 9% *4 *2inches
92 *4 *2 evorwren

(C) O 9*5*3 Yz inches
9*5 *3 V2 evorwren

(D) O 7*4 *3inches
7*4 *3 evorowvren

Question No.14 1.00

Glass blowing pipes are made of iron tubes with length of about
TR &5°00f PR T (0 DOD QrgEPOE BSOIPEBIW
(A) O 100-120cm
100-120cm
(8) O 100-150cm
100-150cm

() O 100-110 cm
100-110 cm

(D) O 100-130cm
100-130cm

Question No.15 1.00

Common bricks is in the class of
JeSes QEVSeD JTAS BoAID

(A) O Sanitaryware
D6

(B) O Brickware
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(c)O

(D) O

DEH6

Earthernware
ABIDE (L0yBs° Jeggen)

Porcelain
D690

Refractory

(A) O

Question No.16

The nature of bonding in ceramics is
D8y &° erocioh dBwE), WLEPd0

vanderwaals
a"zgoc.ié 5”53

metallic

S*ro

ionocovalent
oL IETrT oS

hydrogen
TE2

1.00

In coke, oven
8 4D &S D 68D 20 Fof RSO T 7

Question No.17

insulating bricks are used

magnesia
o)) osr

zirconia
a%6°b.‘002b°

alumina
e.owzg&)a"
silica
s

1.00

(D) O

Question No.18

Heat capacity of solids are always a function of
DIVTTL &Y a»mngo DRV

time
P00

porosity
LN

temperature
eg‘gé

density
Jrogyed

Boe), HRooso

1.00

Question No.19

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Refractory.html
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The pH value of water used for castables should be
SRENSH(DIV0DF 5°8) F6LH eDATTAocd A pH Dewsd

(A) O
B) O

—~
o
N
©©O© OO N~ oo

Question No.20 1.00

The acceptable limits of work ability index are
56), JDDE oGSy AINE), BDPBEAP RO DG

(A) O 10-12%
10-12%
B) O 5-10%
5-10%
) O 0-5%
0-5%
(D) O 15-35%
15-35%

Question No.21 1.00

Inorder to avoid influence by the walls while measuring the temperature, thermocouple must
project
& g0 EDBLDW Hee ooe DBy QErTr) D80S, Y8 EDS S\oE 2

Tag Soird

(A) O 100 to 120 mm
100 o0& 120 mm

(B) O 140 to 160 mm
140 &o0& 160 mm

(C) O 120 to 140 mm
120 &dod 140 mm

(D) O 80 to 100 mm
80 &voc 100 mm

Question No.22 1.00
Portable drilling Machine can be used for drilling upto a size of diameter
if’gwé &8oh aogrdy TR0 H6L Ghohh BoERAS &DAATAoIBTSY

(A) O 10mm dia
10mm T°§R0

(B) O 14mm dia
14mm T°§R0

(C) O 12mm dia
12mm o5

(D) O 8mmdia
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8mm T°§R0
Question No.23 1.00
On crowns, ramming work is always of the skewbacks
g ovzs.‘{boﬁ 656 QYD {\15“2}583*’55‘393 €0LP00

(A) O vertical to the direction
BBL DD &0t

(B) O perpendicular to the direction
&BL LoOTP E0LIP0N

(C) O horizontal to the direction
BB LD DAFOBGOTT €080

(D) O in the direction
B3S°S &otron

Question No.24 1.00

Mortars with high alkali content results in
8O S TS0 VOSOTT (IO TP B SPBEIA)ITON) ===

(A) O wearing
ilololel (1o bletlal3)]

(B) O removing
B Doh

(C) O warping
D“Oboﬁ

(D) O spalling
3‘32’)05

Question No.25 1.00

Arc furnaces use
es8) 0B dew Q0 &DAPAFAN

(A) O carbon bricks

(B) O silica bricks
2o @éb

(C) O high Alumina Bricks
T variI 98y

(D) O magnesite bricks
doegit) 26 DSy

Question No.26 1.00

If the expansion from 20°C to 500°C is 0.418%. Calculate the coefficient of linear expansion.
20° C &00¢ 500° C 56 o5€'do 0.418% 0008, SHapH g€ (ease) T8) ocsodt.

(A) O g.7*107
8.7*1077
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(B) O g.7+104
8.7*10

(C) O g.7+106
8.7*10%

(D) O g.7+10°5
8.7*10°

Refractory

Question No.27

208 Sy
(A) O 1S0 3019
ISO 3019

(B) O 1S0O 5019
ISO 5019

(C) O 1SO 6019
ISO 6019

(D) O 1S0 4019
ISO 4019

Brick dimension is specified according to standards

QIETR GG ABIocsercddoodd

1.00

Question No.28

(A) O 1200°C
1200°C
B) O 1400°C
1400°C
(€) O 1600°C
1600°C
(D) O 1800°C
1800°C

Maximum temperature of SiC heating elements is
SiC sof d200ts diwg), (6% e e

1.00

Question No.29

Moulding of carbon

(C) O Slip casting
9D s7g0h

226 57206

bricks is done in

63O @t H3°Qoh &5° Bo%eacr0d

(A) O lIsostatic pressing
aiﬁ‘@’%ﬁé 39’.0305

(B) O Hydraulic pressing
2595 pdyoh

(D) O Pressure casting

1.00

Question No.30

Maximum moisture

O

content of dry mixes is

o)l 3B (g WEyw) (10 B TS0

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Refractory.html
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(A)  0.10%
0.10%

B) O 0.40%
0.40%

() O 0.20%
0.20%

(D) O 0.30%
0.30%

Refractory

Question No.31

01’5:)306 ;’bé‘bom

(A) O 450¢
450C
B) O s50¢
550C
(C) O 60cC
60°C
(D) O 500¢
50°C

Heating rate of ramming mixes can be incresed not more than
&G 5o Do) DEBODETER

1.00

Question No.32

(A) O Z*S/ (S-1)
z*S/ (S-1)
(B) O 3z*S/ (S-1)
32*S/ (S-1)
(C) O 2z*S/ (S-1)
27*S/ (S-1)
(D) O 4z*S/ (S-1)
47*S/ (S-1)

If Z is weight of 1 litre of slip in gm, S is specific gravity, then Brongniart's formula is
Z 956 prawod” 1 D6 2D tded) 0803w S 056 DIR HAS0 o, &570h) a8 Drgo

1.00

Question No.33

Percentage of Alumina in corundum is
E6oco &° e dT® Foo

(A) O 80-90%
80-90%
(B) O 70-80%
70-80%
() O 90-100%
90-100%
(D) O 60-70%
60-70%

1.00

Question No.34

Application of Mortars is done using
2Trg DI o

(A) O Lathe
g

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Refractory.html
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(B) O

) O

(D) O

Trowels
§ 55,y

Chisels

Dril
as

Refractory

(A) O

(D) O

Question No.35

Dolomitic limestones contain
ES" 2008 g0 Py

25-44% MgCO5
25-44% MgCO5
45-55% MgCOs
45-55% MgCOs
10-15% MgCO4
10-15% MgCO3
15-20% MgCO3
15-20% MgCO3

£0A 0t

1.00

(A) O

Question No.36

In flexural testing, the stress at fracture is called
EY6S G066, FENE D¢ RD(1Bew0) & 99 DOJE

flexural strength
3,350625 ;’805

brittle strength
DS of

impact strength
'3705“9% 'fgoﬁ

theoretical strength

BATOBEES o

1.00

A) O
B) O
C)O
(D) O

Question No.37

Sp. Gravity of Silica brick in a load of brick for acceptance is
BAPQosRTER0E w8 B0EL S'ES G0l VS O diwg), DI AGS(HD

2.365
2.365

2.465
2.465

2.565
2.565

2.265
2.265

1.00

&o®

Question No.38

Drying of dolomite bricks is done at
E0R0E5 L Eo0H(36BE0L)

OG WBoDICDB0D

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Refractory.html
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(A) O go°c
60°C
B) O gooc
80°C
(C) O gooc
90°C
(D) O 700¢
70°C

Question No.39

Implementation of 5S in a system is to obtain
28 20" 20 oIS 5S e9s0en BokercIdod.

(A) O large productivity
g eaobasej

(B) O increase waste
‘:'558“0‘). Dot

(C) O decrease efficiency

5‘&)%50 SHA0W0GVL
0

(D) O decrease productivity
&@DC&SQ e‘éQoz’SoC&)s.)

1.00

Question No.40

No. of items in a lot is specified as
28 e¢5(0°3) &°D DBDOY Do & BHTD

(A) O
B) O

>> Z2Z XX 00

1.00

Question No.41

Brick levelling is done by
DE Sd90h R0 &DAPAN VI

(A) O wood Hammers

(B) O metal hammers
S G

(C) O ceramic hammers
ISR oY

(D) O plastic hammers
T8 Sro

1.00

Question No.42

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Refractory.html
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Floor tiles is in the class of
I6 BSy ST oI

(A) O earthernware
DESDE(20, 38 Srgew)
(B) O stoneware
ADHE
e
(C) O porcelain
D610

(D) O saintaryware
FAeIEDE

Question No.43 1.00

The common opacifier is
SO0 wTNAE

(A) O antimony fluoride
5002 P'BE

(B) O antimony trioxide
3083200 GesS &
S

(C) O antimony sulphate
3083200 DG

(D) O antimony chloride
20832000 §8&

Question No.44 1.00

Ceramics is derived from a greek word called 'Keramos' which is known as
2008y 90 Deso 'Keramos' eodo G1 Do dood e,csa&)oé)éé, @ @do

(A) O sticky stuff
€9080D dorgo

(B) O soft stuff
WS HeGo
- @
(C) O plastic stuff

F2E HrGo
e Iy

(D) O burnt stuff
59 dDorgo

Question No.45 1.00

Serial No. of incoming materials should be recorded for
2DE0A 0BOADSY ALY DOODES Hoed E6 05°Q Bosrd

(A) O safety
56

(B) O inspection
3D

(C) O accounting
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e9S°08d0N

(D) O traceability
weogorr M Herds8(Traceability)

Question No.46

The refractoriness in sillimanite brick is higher than
Q2 QS cIwg) S*-0FEHID ET°) ED

(A) O silica bricks

(B) O alumina bricks
iR O

(C) O carbon bricks

(D) O magnesia bricks
3.)5&:)055" @éb

1.00

Question No.47

Wire anchors should not be used beyond
D5 aIrosg) ST DL Do) TEEFER

(A) O 1804°C
1804°C
(B) O 2004°C
2004°C
(C) O 1904°C
1904°C
(D) O 1704°¢C
1704°C

temperature

1.00

Question No.48

Demolition materials should be kept

JFS Ot ON) :»eSccméb 20 der &ow@d?

(A) O moist
308°

(B) O hardened
#35E

(€) O dry
PEre

(D) O lumps
é)i.’obwn“

1.00

Question No.49

(A) O

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Refractory.html

Copper/Constantan can be used for temperature measurement upto
5706/ SPRF RV DL &T B FODEIS &DBPHFD

1.00
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400°C
400°C
(B) O 300°C
300°C
(€) O 200°c
200°C
(D) O 100°C
100°C

Refractory

Question No.50

(A) O Glass plates
TR 40

(B) O Glass rods
SR~

(C) O Glass microspheres
R @55301)5‘3

(D) O Glass balls
USESEON

are used in traffic signs
&S s &OWBFAFED

1.00

Question No.51

(A) O Evaporation
&P BOD0

(B) O Condensation
JrodEBea0

(C) O Fusion
‘c’ooé);bo(i,qyzgeea‘S)

(D) O Sublimation
%ejbééo

The process of turning from liquid state to vapour is called
8 28 ol gy VB ArBy DI DD DL

1.00

Question No.52

QPTG SVDOD
(A) O Paddle mixer

(B) O Pan mixer
FS 8,6

(C) O Needer
Desd

(D) O Ribbon mixer
0&)&5 :).)535

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Refractory.html
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(A) O

(B) O

Question No.53

During gunning, the nozzle of the spray gun should be pointed at an angle of
surface
(5 0ff DBADES”, 2 (S AN, TRES M OBV

100°
100°
80°
80°
90°
90°
110°
110°

&e30¢5° &ozd

1.00

to the

(A) O

(B) O

Question No.54

In silica brick walls, vertical expansion joints are spaced
2dse Qens e, Jewsd) 05351’(3.5 25°00080

5-8 feet
5-8 eacoroen

8 - 10 feet
8 - 10 eacordoen

10-16 feet
10-16 evcorren

16-20 feet
16-20 eactoroen

CPGoTP &0ePO

1.00

(A) O
(B) O
(c)O

(D) O

Question No.55

Firing temperature for roofing tiles is
6r0h By F6H pooh &G

1000-1260°C
1000-1260°C

900-1160°C
900-1160°C
700-860°C
700-860°C
800-960°C
800-960°C

1.00

(A) O

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Refractory.html

Question No.56

Castable refractory is used for foundation at temperature
5753808 6FE0D ol E6LH

500F
500F

(B) O 600F

600F

() O 700F

700F

&S DG GOBTAFE®

1.00
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(D) O 400F
400F

Question No.57 1.00
a' warning indicate danger to health due to
'a’ 39,0 S0 98TRIIS AT WPDRPS
(A) O dust
aoa»&

(B) O toxic gasess
D TOIVE

(C) O asbestos
0523?5

(D) O acids
e8I

Question No.58 1.00

In SiO,, bricks, the moisture content after drying will be
SiOy qtvseo edﬁgé(g DOD) ST B0 Fo
(A) O 0.12%

0.12%

B) O 0.02%
0.02%

() O 0.20%
0.20%

D) O 2%
2%

Question No.59 1.00

One example of natural abrasive is
Qe PGS0 (JeES BBRD) DO W GIrDsen

(A) O WC
e

(B) O diamond
Gook

(C) O cubic BN
505 BN

(D) O sic
SiC

Question No.60 1.00
is used as a diamond simulant in jewellery
arjood & @ol dawgwots ™ &OWBTAFED
(A) O cubic SiC
&rgd$ SiC

(B) O cubic boron
SO
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(C) O cubic zirconia
&g DS 28) dasr

(D) O cubic SigNy4

Question No.61 1.00

Vibration time for dry mix is
& D&y F6 DBARD vodo

(A) O 5 to 8 minutes
5 2008 8 doaren

(B) O 2 to 5 minutes
2 2008 5 doaren

(C) O 1 to 2 minutes
1 2008 2 doren

(D) O 8 to 10 minutes
8 00d 10 dAren

Question No.62 1.00

Movable scaffolds can be used for
SaTeHeeS &bifeéb 3L &HABTAoILICETAND

(A) O long crowns
eroh S0

(B) O narrow crowns
8 §o

(C) O small crowns
:‘Dé‘l St

(D) O Short crowns
A6 &0

Y o

Question No.63 1.00

Microwaves / electromagnetic radiations are in the range of
208Dy / Dog S5 838 BAARY T
(A) O 1-300 HZ
1-300 HZ
(B) O 1-300 MHZ
1-300 MHZ

(C) O 1-300 GHZ
1-300 GHZ

(D) O 1-300 KHZ
1-300 KHZ

Question No.64 1.00

Good maintenance of equipment can increase the energy from
DBETL B AECe?, FEJ HOL DocIAH

(A) O 2-5%
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2-5%
B) O 20-50%
20-50%
(€) O 10-20%
10-20%
(D) O 5-10%
5-10%

Question No.65 1.00

Air curing is done for
2dond Srséoﬁ D) 2EDLESHH

(A) O 36 hours
36 cfotden

(B) O 48 hours
48 Sotoen

(C) O 72 hours
72 fotoe

(D) O 24 hours
24 tfotren

Question No.66 1.00

Inner defects can be found by hitting the dry bricks with
D& @t & Becio or(oe S°0D S'Ford SR0FDDSY

(A) O steel rod
80, 8&

(B) O wooden rod
Eotg §¢

(C) O tunning fork
3,0 B0t

(D) O hammer
8

Question No.67 1.00

Grinding of silica raw materials is done in
2B Jwé dErgre Jodtoh &° SaercoB00d

(A) O tube mill
eegeS S

(B) O Perforated ball mill with sieves
%%(agc&v)é‘ :a&';é&& ereS &S

(C) O rod mill
& S

(D) O pan mill
FS S

Question No.68 1.00
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Bentonite clays contain
B0tS°DES Sew LD § WSS ™

(A) O fireclay
253

(B) O ball clay
e g

(C) O montmorillonite
J08S 205 DS

(D) O kaolinite
IS

Refractory

as the main clay mineral
20 DAY oeTaw

Question No.69

TR0y Y PO eI (e
o= €

(A) O 700-860°C
700-860°C

(B) O 800-960°C
800-960°C

(C) O 800-1100°C
800-1100°C

(D) O 600-750°C
600-750°C

The firing temperature of enamels is

1.00

Question No.70

(A) O 100cm
100cm

(B) O 70cm
70cm

(C) O 80cm
80cm

(D) O 90cm
90cm

If key brick for a ring is cut to size, it should be atleast
80fi 650 § Q8 20 DWAFTES, o §J%o

&ote®

1.00

Question No.71

(A) O top
23

(B) O back
FSINISESY)

(C) O side
EEORSS

(D) O bottom

Gunning mould will be open at the
db‘lof) &33"2; BEOVL0E0D
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9CDD

Question No.72

Serpentine is
0ByoBS D6

(A) O Mg0.2Si0,.H,0
(B) O 3MgO0.2Si0,.2H,0
3Mg0.2Si0,.2H,0
(C) O 3Mg0.2Si04.H,0
3Mg0.2Si05.H,0
(D) O 3Mg0.Si0,.2H,0

1.00

Question No.73

Unshaped refractories are packed in paper bags as
us° o & 0gben S°HSLY Dousowds” 2O F§E Bosecaron

(A) O 100Kg
100Kg
(B) O 40Kg
40Kg
(C) O 10Kg
10Kg
(D) O 25Kg
25Kg

1.00

Question No.74

Tape casting is used to make flat ceramic sheets of having thickness about
&S so5R0h 200650 EDAD WD DTS 28I SOITPEHBOIVIL EDITAJED

(A) O 0.5mm
0.5mm

(B) O 1.5mm
1.5mm

(C) O 2mm
2mm

(D) O 1mm
1mm

1.00

Question No.75

results in a compressed outer surface layer and inside layer in tension
IS G0V TG WodETAS SR, S0 OB BHIL S’ HIo TT° IBYER ---------

(A) O Patterened glass
Fed) R

(B) O Tempered glass
ﬁo‘foé [i23)

(C) O Laminated glass
O ODBE PR

(D) O Float glass
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